Chapter 14-15 study guide
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
What do taxes collected under the Federal Insurance Contribution Act (FICA) fund?

	a.
	Social Security and Medicaid

	b.
	Social Security and Medicare

	c.
	Medicare and Medicaid

	d.
	Medicaid and Supplemental Security Income


____
2.
Which of the following defines a means-tested program?

	a.
	Eligibility depends on income.

	b.
	Any person who is a U.S. citizen is eligible.

	c.
	Age is a major criterion for eligibility.

	d.
	People pay first and receive benefits later.


____
3.
Which of the following is one reason the federal government collects income taxes as a person earns?

	a.
	so that people do not realize exactly how much they are paying

	b.
	so that the money can be put aside until it is needed

	c.
	so that the government can pay bills as they come due

	d.
	so that taxpayers can qualify for refunds of excess tax


____
4.
What is a major difference between an operating budget and a capital budget?

	a.
	In an operating budget, legislation is needed; in a capital budget, no legislation is needed.

	b.
	An operating budget is raised by bonds; a capital budget is raised by taxes.

	c.
	An operating budget consists of small amounts of money; a capital budget consists of large amounts of money.

	d.
	An operating budget is for day-to-day expenses; a capital budget is for investment spending.


____
5.
What is the major source of tax revenue for local governments?

	a.
	inheritance taxes
	c.
	property taxes

	b.
	income taxes
	d.
	sales taxes


____
6.
The sales tax on a $20.00 hammer is 7%, or $1.40. Why is this tax a bigger burden for Josh, who has a $15,000 income, than for Aaron, who has a $150,000 income?

	a.
	The tax represents a larger proportion of Josh’s income.

	b.
	The burden is the same for both Josh and Aaron.

	c.
	The tax rate is higher for Josh than for Aaron.

	d.
	Josh will have to pay a greater property tax on the hammer than will Aaron.


____
7.
Suppose your total taxable income this year is $75,000. You are taxed at a rate of 10% on the first $25,000, 20% on the next $25,000, and 30% on the final $25,000. What is your total income tax?

	a.
	$2,500
	c.
	$15,000

	b.
	$7,500
	d.
	$25,00


____
8.
Which is an example of discretionary spending?

	a.
	Social Security
	c.
	Medicaid

	b.
	Medicare
	d.
	education


____
9.
When you drive away from the gas pump, you have just paid a(n)

	a.
	import fee.
	c.
	corporate income tax.

	b.
	excise tax.
	d.
	estate tax.


____
10.
What happens to the money that your employer withholds from your paycheck?

	a.
	Your employer holds it until you leave your job and then returns it to you.

	b.
	Your employer returns to you at the end of the year so that you can pay your federal taxes.

	c.
	Your employer holds it in case you damage his property.

	d.
	Your employer sends it to the federal government to help pay your income tax bill.


____
11.
Your aunt is a state employee. Her salary comes out of the state’s

	a.
	capital budget.
	c.
	general accounting budget.

	b.
	operating budget.
	d.
	federal budget.


____
12.
Which of the following is an example of state spending?

	a.
	the state police who stopped to assist you when you had a flat tire

	b.
	the state campground where your family vacations

	c.
	state water quality inspections

	d.
	all of the above


____
13.
Every hour, the federal government spends about

	a.
	$250 thousand.
	c.
	$250 million.

	b.
	$25 million.
	d.
	$25 billion.


____
14.
All of the following people are well-known classical economists EXCEPT

	a.
	Adam Smith.
	c.
	Arthur Laffer.

	b.
	David Ricardo.
	d.
	Thomas Malthus.


____
15.
In contrast with classical economics, Keynesian economics

	a.
	reduces the role of government.

	b.
	takes a broader view of the economy.

	c.
	relies more heavily on the laws of supply and demand.

	d.
	more strongly emphasizes the importance of individual businesses to the overall health of the economy.


____
16.
When revenues exceed expenditures,

	a.
	there is a budget surplus.

	b.
	there is a budget deficit.

	c.
	the government must create more money.

	d.
	the government is forced to issue more bonds to raise money.


____
17.
Keynesian economics failed to deal successfully with

	a.
	World War II.

	b.
	the Great Depression.

	c.
	high inflation during the 1970s.

	d.
	low unemployment rate during the 1960s.


____
18.
All of the following are reasons why it is difficult to implement balanced fiscal policy EXCEPT

	a.
	the need for discretionary spending.

	b.
	political pressures for reelection.

	c.
	difficulty of predicting future economic performance.

	d.
	difficulty of coordinating the needs of many different agencies.


____
19.
An example of an automatic stabilizer is

	a.
	taxes.
	c.
	interest rates.

	b.
	inflation.
	d.
	U.S. savings bonds.


____
20.
Supporters of supply-side economics believe that

	a.
	government should be used as a tool to increase demand for goods.

	b.
	demand for goods increases when prices rise.

	c.
	taxes have a strong negative influence on economic output.

	d.
	tax cuts have little impact on worker productivity.


____
21.
All of the following are problems associated with high national debt EXCEPT that it

	a.
	reduces funds available for businesses to invest.

	b.
	makes it harder for the government to fund projects.

	c.
	makes investing in treasury bonds, notes, and bills very risky.

	d.
	can slow the growth of the GDP.


____
22.
What leads directly to the crowding-out-effect?

	a.
	a big federal budget deficit
	c.
	a federal budget surplus

	b.
	increased government spending
	d.
	cuts in federal spending


____
23.
What is one example of an automatic stabilizer?

	a.
	food stamps
	c.
	the national debt

	b.
	a new highway project
	d.
	a balanced budget amendment


____
24.
The Laffer curve predicts the effects of changes in the tax rate on

	a.
	unemployment.
	c.
	real GDP.

	b.
	tax revenues.
	d.
	aggregate supply.


____
25.
Which of these is a contractionary fiscal policy?

	a.
	The federal government builds a new medical research center at a prestigious state university.

	b.
	The President and Congress pass a new two-cent-per-gallon gasoline tax.

	c.
	The federal government sends taxpayers up to $300 each in the form of an income tax rebate.

	d.
	The sales tax on clothing is lifted for one week before the school year begins.


____
26.
The President has vetoed several appropriations bills. What is the next step in the budget process?

	a.
	Congress can vote to override the vetoes or pass new appropriations bills that the President is likely to sign.

	b.
	Congress must pass new appropriations bills for the President to sign.

	c.
	The Congressional Budget Office may intervene to ensure a budget is passed.

	d.
	Federal agencies send requests for money to the Office of Management and Budget.


____
27.
What will lead DIRECTLY to a government “shut down”?

	a.
	Government spending exceeds revenues before the end of the fiscal year.

	b.
	The President vetoes Congress’s appropriations bills.

	c.
	Congress and the President are unable to agree on a budget and one branch of government refuses to pass temporary spending measures.

	d.
	Congress fails to override a presidential veto.


____
28.
Which statement describes the federal government’s fiscal policies in the 1980s?

	a.
	Income tax rates were reduced, but spending increased.

	b.
	Income tax rates and spending were both reduced.

	c.
	Income tax rates were increased and spending was reduced.

	d.
	Income tax rates and spending were both increased.


____
29.
Which of these Presidents increased top marginal income tax rates during his term in office?

	a.
	Franklin D. Roosevelt
	c.
	Ronald Reagan

	b.
	John F. Kennedy
	d.
	George W. Bush


____
30.
Robin buys a newly-issues Treasury bond, Treasury note, and Treasury bill. Which will mature and be repaid by the government LAST?

	a.
	Treasury bond
	c.
	Treasury bill

	b.
	Treasury note
	d.
	either Treasury bond or Treasury bill


Matching
Identifying Key Terms
Match each term with the correct statement below.

	a.
	corporate income tax
	g.
	incidence of a tax

	b.
	estate tax
	h.
	deductions

	c.
	regressive tax
	i.
	real property

	d.
	proportional tax
	j.
	Medicaid

	e.
	individual income tax
	k.
	withholding

	f.
	gift tax
	l.
	Social Security


____
31.
a tax for which the percentage of income paid in taxes remains the same for all income levels
____
32.
a tax on the amount of money a person earns
____
33.
a tax for which the percentage of income paid in taxes decreases as income increases
____
34.
a tax on the value of a company’s profits
____
35.
the final burden of a tax
____
36.
physical possessions, such as land and buildings
Identifying Key Terms
Match each term with the correct statement below.

	a.
	individual income tax
	g.
	balanced budget

	b.
	tax return
	h.
	discretionary spending

	c.
	tax incentive
	i.
	mandatory spending

	d.
	tax exempt
	j.
	Medicare

	e.
	tax assessor
	k.
	tariff

	f.
	tax base
	l.
	personal property


____
37.
not subject to taxes
____
38.
income, property, good, or service that is subject to a tax
____
39.
budget in which revenues are equal to spending
____
40.
spending on certain programs that is required by existing law
____
41.
a tax on imported goods
Identifying Key Terms
Match each term with the correct statement below.

	a.
	appropriations bill
	f.
	national debt

	b.
	crowding-out effect
	g.
	productive capacity

	c.
	federal budget
	h.
	Treasury bill

	d.
	fiscal policy
	i.
	Treasury bond

	e.
	multiplier effect
	j.
	Treasury note


____
42.
the maximum output that an economy can sustain over a period of time
____
43.
when the level of federal borrowing makes it more difficult for private businesses to borrow
____
44.
total amount of money the federal government owes
Identifying Key Terms
Match each term with the correct statement below.

	a.
	appropriations bill
	f.
	national debt

	b.
	crowding-out effect
	g.
	productive capacity

	c.
	federal budget
	h.
	Treasury bill

	d.
	fiscal policy
	i.
	Treasury bond

	e.
	multiplier effect
	j.
	Treasury note


____
45.
a written document indicating the amount of money the government expects to receive for a certain year and authorizing the amount of money the government can spend that year
____
46.
the federal government’s use of taxing and spending to keep the economy stable
____
47.
document authorizing specific spending
____
48.
the idea that every one dollar change in fiscal policy creates a greater than one dollar change in the national income
____
49.
total amount of money the federal government owes
____
50.
a type of bond that must be repaid within two to ten years
Short Answer
Reading a Chart
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51.
According to Figure 14.8, what is the largest category of local spending?

52.
According to Figure 14.8, what percentage of local spending is on police protection?

53.
According to Figure 14.8, what percentage of local spending is on education?
Interpreting a Graph
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54.
According to Figure 15.9, about what year was the budget deficit the highest?

55.
According to Figure 15.9, what was true about revenues and expenditures in 1950?

56.
According to Figure 15.9, about what year was the budget surplus about $40 billion?

57.
According to Figure 15.9, about what year was the budget deficit nearly $300 billion for the first time in history?

58.
According to Figure 15.9, what was the general trend of government revenues and expenditures during the 1970s?

